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N.B: (1) Question No. | is compulsory
(2) Attempt any three from the remaining.

1. (a) Find Ix

(b)

(c)

(d) =k
WLl F(s)=S*+2s+4
F(s) =82+ 28 /(s + 1)
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2. (a) Find current I, using mesh analysis.
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(b) For the graph shown, write incidence mat:ri}e,_:.-; ucset matrix and f-cutset

matrix. .
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3. (a) In the n/w shown, sﬁ.qu -::;:l_',ﬂtﬂ i1s reached with s/w open. At t =0, the s/W 1§
closed. For the element values given, det the vaoues of.

va(@), Vi) &
Va(0%), ¥(0")
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(b) Find current in 20Q branch using thevenin's theorem.
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For the shown ckt; s/w is mg}m&ﬁm atob df:t
i(t) and Ve(t) .

(b) Obtain z parameters frr the network shown. 0
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5. (a) State and explain properties of Hurwitz polynomial.
(b) State whether the polynomials are Hurwitz.

(i) P(S)=S'+2S82+4S+2
(i) P(S)=S*+ 383+ 482 + 28 +3
(ili) P(S)=S°+28*+3
(c¢) Det. Ve(OY), i (0+)ﬁ(0+) and ﬁil—(0”) for the ckt
) =5 dt dt i
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6. (a) Synthesize the following funct:oniin Foster I and Foster IL.
z(s)=

6S* + 428% as
S5 §188%; 488
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Correction:

In Q.1 (a) find Ix : Ix is current through 5 ohms
resistance flowing towards the node

In Q. 3 (a) resistance value i1s 10 ohms and Inductor value
1s 2 H ; point a and point b are on two_sides.of 20 ohms
branch ( point a above the switch and point b above the
inductor )
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